Subgraph and Complement
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e et G = (V E). A graph H = (V>, EY) is a subgraph of G 1f.2 -
e,
:D C_) 6

\ /W\ /

(a) Petersen Graph (b) Highlighted Subgraph (c) Extracted Subgraph
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Types of Subgraph

e Spanning Subgraph; Let G = (V, E). A graph H = (V*,
H is spanning subgraph of G if V' = V.
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E) is a subgraph of G. The subgraph
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Complement of graph

e Complement of a simple graph G is a simple graph G having—

e All the vertices of G.
e An edge between two vertices v and w iff there exists no edge between v and w in the original

graph G ,
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Complement of graph
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(} Exl: A simple graph G has 1O vertices and 21 edges. Find total number of edges in its
complement graph G Ny » o X&
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e Let G be a simple graph of order n. If the size of G is 56 and the size of G is &0.
What is n? n={ e (G) CC,G)
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A simple graph G has 30 edges and its complement graph G has 36 edges. Find number of
@ertices in G. c (&) ECCT} n=7
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